B (a) Explainsensivity analysiswithone example.
5

(1) Howdoes depitaciation atlect the Income
Staternent and Balance Sheet ? Explain

“with two exarnples. 5
7. From the following data, compute material
variances: * 10
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Ansiwer Question No. T which 15 campulsoty
#nd any five from the resi
The figures in the tight-fiand matgin
indicala marks.

‘5+5
(a) Process dnﬂing:amd'VGyn n
- 1. DAnswer thafalicwltia guestions | 2510
{(b) Cesteantrol, @ 3 - -
. A s Bssantialto iind out the time ?EIIUE
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of rﬁﬂnmﬁ' ?

(B) IFacedain sum of moiey is daubled in
B years al a given simpie interas!, i how
siany years will it e tour timnes ?

ic) How doeschangein imarest rate affectan
‘equivalence betwean twa cash flows ?
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2. (a)

(b}

How is preseat worth Helpfil in evaluating
the project'?

State two differences betwsean t:lngﬁ;:-'le

penefits and intangible bendfits,

Define IRR.

Why is depreciation charged on fixed.

assets?

Whatis ‘contribution’ 2

How will you find out aifigmal gain ?
Whal do you méan by relevanti cosl 7

Whatwill e @fumrmmuatentamﬂum |

at the end of live
continucus cash flove &t
per year for live year
compounded continuously attie nominal
annual rate ot 596 7 =)
Trie loase paymants of a machine anmoum

o' Hs. 10,000 per month lor live years. If
paymeriis are mada on the hirst ol each

HSSM 4201/ PH 31010 2 Contd.

‘month, what is the prasent worlh ot the
agragement a1 2 nominal annual interast rate
¢ 12%%, cormnpounded mantifly ? 5
LE) “The maost commor way 10 approach pubfic
B project evaluation le by cost-benellt analysis’.
Explain the statement with \wo examples,
Dispuss the qualiticalion of purjeel costs and
banaiils, G4
4. Why is Itrequired to lind out equivalent annual
wonh 7 How can you campare tha assets with.
uriequal livas 7 Discuss with examples.  4+8

B ABCLId has provided the following intormation :

AN.C

Prafit
As.
A.000 2,060,600
5.00000  4,00,000

You are raquired 1o ealoulate 34344
(i) PMratio

(1} Fixadcost

(Hl) ‘Break-avensales.
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